7. UKD va -@ % d 4, 4, P..w“..@%i.“ “hv

o &

o #h TR a3k, 3D L ), (Anh-ds, 2k
nAUR-BELEL AL ARRTAAY LG

E@ﬁmﬁ% A A B b _.q Ao GAd: (dLdz)
o8 (% A= (@)=
vdi Ayl (dad)=0.

(Atd, 4, W ddt(dd) =0

(o LE__V ap
Cdivada -y, 100 33) = 24 1) +@l,) 4 4(ds o) +2(ch dy)
=2y, da) = (dy ,dy)

-3
@ R UE-Ake A ¥R
#o)- b, @b

b |
fi= du M‘wm__«*- = s HT.?.ul

e - SSpepit- AL, = 233844y
hbd=2

—7

= m.n_w.

H}_u. Fm-. B .*-:-_ ‘F

(3= _w._ B (ad-aurd)

%. €40 =22 duu v = A% G R o+ LK G 20

oty . D RA -t BRA= R YRS
5 fei0ld 3 B &

i (S
a ! 1

I 1 0 I I P
.p...ﬁ~ o _uéﬁu -t Tnv M 0 D
b SRR L e wa

A M=o ukio d=1.100

ih u..*n_.u...ﬂ;ﬂ.l pre
\

IAE-Al= |22 = ¥ =v

+ M - M=} A= (1,04
1 - A }hhu._w Eﬁvﬁ _..|_v_____u_..
BT S ORRE T XCLL T
ﬁ_..w.___u..,. Th= Wr. cey -v‘”_n___."v__...__q _..wumm:..r.__.
Q0e:-(% £ 7 @EE_ :
£ o -%
X% % &= 33"
¥ eyt et % waiAld



